Tuesday, February 19/13
Intro to Environmental Science 120

Test - Thursday

1. Test Review

2. Wonders of Galapagos

3. Internet Detective - Online Tutorial: Internet Research
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Introduction to Environmental Science 120

Alaska has the lowest population density of any state in the United States. [t has 626,932
people in 570 374 miZ. What is its population density? Round to the nearest person per
square mile.

Review — Test 1

Analvze the following situation. You captured, marked, and released 3 turtles from a
pond, and caught 10 unmarked turtles the next day. Would vou have enough information
to estimate the population using the mark-recapture method?

. There are 4 foxes in 10 square kilometers of a forest. How many foxes would you gxpect

to find in 50 square kilometers?

. Suppose vou want to kmow how many box turtles are in a wooded park. On the first day,

you hunt through the woods and capture 24 turtles. Youplace a spot of paint on each
turtle’s shell and release all turtles back where you found them. A week later you retum,
and with an extraordinary effort. catch 60 turtles. Ofthese, 15 are marked and 45 are
unmarked. What is the estimated size of the box turtle population?

. The population in the town of Huntersville is presently 38 300. The town grows at an

annual rate of 1.2%. What will be the population of Huntersville in 18 years?

. A biologist originally marked 40 butterflies in Wilson Park. Ower a month long period

butterflv traps caught 200 butterflies. Of those 200, 120 did not have tags. What
would be the estimated size of the butterfly population in Wilson Park?

. On October 15, 1984 at the beginning of the squirrel-hunting season, biologists counted

935 gray squirrels in a 20-acre forest. On December 15, 1984, 42 gray were counted in the
a) What was the density of the gray squirrel population on October 15, 19847

b} What was the density of the gray squirrel population on December 15, 19847

c) What factors could have affected the density of the population?

. Schushsville is an island of 3000 square miles off the coast of Northville. There are

currently 250,000 inhabitants of the island. Last vear, there were 12,000 new children

bom and 10,000 people were recorded as deceased. Itis believed that the island could

support a population as dense as 130 people/square mile.

a) What is the current population density and what do vou expect will happen to the
densitv as time goes on?

b) What was last vear's population?

c) If Schushsville’s population growthrate is 0.8065%. how many years will it take for
its population to double?



9. A population of 100 frogs increases at an annual rate of 22%. How many frogs will there
bein 5 years?

10. Study the graph below.
a) What tyvpe of growth is shown in the graph?
b) Indicate on the graph where exponential growth occurs.
c) What is the rabbit population’s carrving capacity?
d} What factors prevent populations from growing at their biotic potential?
g) As the graph levels off, what is happening to the rabbit population?
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11. With what tvpe of organisms should the mark-return-recapture method be used?

12. What environmental issues are depicted below?

13. What is meant by an eco-centric point of view?
14 What is ethical consumerism? Give four examples of ethical consumerism.

15. a) What two process lead to evolution?
b) According to Darwin, how do species originate?
c) What tvpe of adaptation is illustrated by the beaks of Darwin’s finches?
d) Where can evolution in action be observed?



Ky./-'u - ,I.“f |
l ZW é-q:gx bneh® f?v-h."'uv- .
0or densify = .ﬁ:(‘?:
~ b,

GTom
T parsen fmi”

gﬁﬁ' Tf“

Te,
/Vl - /ﬂto

ught, you
would need to know how many
weremark d to calculate P.

"(‘ Jo fate b
1, T “14 ¢ f(fa.
TL "'? M
m e
&K :
b (= 3 o0 ﬂ¢ f(“’()
(» 11950002 A-4422
11 = 0002~

4z 18 B |?-7,=f'-

L. Ig =40 (, 7,1’"
W’ M«

me ¥ 0z o ¢ e
ef' ) — be caught.
1. A ‘f 495 sr.:nv(s et
20 g
\9) 0" = 'li,yu_iqq‘””(’l&'-“—
2 2
o sl s
£Fud | it eB

f d lfawofspm:‘lk

oo i ',"’

Q ng L‘,c‘.‘g. Lcl‘fL
roe ;.u el Thdn Jc“f(}

l,) A5 000 1200 0 L.lf;‘:»,

=[s 239 d&

Eip :.' g?—‘r(‘,(s.

c
) Rule of 70 qu“;x



)
MJ,, lg erq4nismb

|

\. = LI‘X-,(AA /iv),GLS'I')

1. ) hrbéa 6€rz.u yw‘l""‘il"‘h'on
l\g\oi’\'d' Ja;'Nuch'm

A € V\Vf(mmen‘l’kq fQ‘F\ATu

|5 LlJin:) 4,‘:) y\m/,f.l{nf) f“+$ af
’n.a Jovitomment 4le ,_1“%
("/»rafﬂ‘m\']_:

l'{f'b“':)"“j @"JMU‘S Qﬂfcz,uté fo be

vl in kn eHnicay mamned (1
-ls/e';'{' ahon huméans fmimg\g enV I'fbllnbfr)

IQ.‘? -\&4\'( VA(:A'.'hgq "\cl (/ZAAJ'-A)
TC"\!I;(D'!M-O.A"-A\ Cu\x\‘(’;ons
h nalweal Selechon
) AN weh ] aék\O‘kaim

dy \DA(‘"\* /V\:\;),r (G;LIAfAJes fc)ué)




Intro to Environmental Science 120

Date:
Review - Test #1
| AEEEEEEEEEEEEEEN
AEEEEEEEEENEEEEN E
HEnl PP T T T ]
O P TTT i
N FIITTIIrr [
[ TTT]




Across

2

14

16
18
19

20

21
22
24
25
26

hest adapted organisms survive and
reproduce

protective from LY radiation
count of a population

maximum rate atwhich a population can
increase

process inwhich anincreasing
proportion of a population lives in cities
or suburbs

the Lorax was this for the trees

Sor curve

driving force of adaptation to
environmental change

can be caused by external environmental
agents

elimination of a species from existence
act of leaving

structural adaptation

sum of all genes in a population

the process of assisting the restoration
of an ecosystem

Down

1

11
12

13
15

17
23

formation of two or more species from
ane

the taking of a biological resource that
does not excede the capacity of the
resource to reproduce and replace itself

does not monetarily affect the producer
of a good, butinfluences the standard of
living of society

the variety of living things in the world
person who studies populations

person forced to leave his or her home
hecause of droughts, floods, etc.

water

caused by urban sprawl, agricultural
practices, etc.

hehavioral adaptation

view that humans are the center of the
universe

view that life is the center ofthe universe
segment of DA



Review - Test #1
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